C-1: FULL HEIGHT BUILT-UP
BOX COLUMN

C-2: BUILT-UP BOX COLUMN
TO STOP AT TOP OF WALL

Lax4x14GA. Wi(4)-#12-14 TEKS
SCREWS INTO COLUMN, AND
(4)-1/4"@ x1-3/4" EMBED.
CONCRETE SCREW ANCHORS
[ICC ESR-2202]

3 5/8"x18GA.
METAL STUD
6"x18GA
METAL STUD

#12-14 TEKS TYP.
@12 0c.

#12-14 TEKS TYP.
@12'0C

35/8"x18GA. METAL
TRACK, EACH SIDE C-2

18GA. METAL
TRACK, EACH SIDE

TYPICAL BUILT-UP BOX COLUMN DETAILS

SEE PLAN FOR BUILT-UP
BOX COLUMN, SIZE &
GAUGE

EACH SIDE

#10-16 TEKS SCREWS @ 12" O.C.

0.157"@ HILTI X-U @ 16" 0.C.

CSJSTUDS @ 16"0.C (1" EMBED)

SEE SECTIONS FOR
ADD'LINFO

INSTALL STUDS W/SAME
DIMENSION FOR BRIDGING
ALIGNMENT

CONT. TRACK SIZE

TO MATCH STUD

#10-16 SCREWS
(EA. FLANGE)

TYPICAL STUD TO TRACK CONNECTION

11/2" COLD ROLLED

CHANNEL
11/2"x1 1/2"x16GA. CLIP
ANGLE, FASTENED TO
STUD & U CHANNEL
WITH (2)-#10-16 TEKS
SCREWS PER CONN.
CSJSTUD -

SEE SECTIONS
FORADD'L INFO

TYPICAL BRIDGING DETAIL

R

TRACK PIECE, W/(6) #10-16 TEKS

® CONTRACTOR(S) SHALL VERIFY EXISTING CONDITIONS AND CORRELATE DIMENSIONS PRIOR TO PROVIDING THE WORK DETAILED IN THESE DRAWINGS,
AND SHALL PROMPTLY NOTIFY THE ARCHITECT OF ANY DISCREPANCIES.

N SCREWS TO BOX COL. & (3)-#10-16 TEKS
/ ?3/7 SCREWS TO BOX BEAM EACH SIDE. TRACK
: GAUGE TO MATCH GAUGE OF METAL STUDS .
§ IN BUILT-UP BOX BEAM agr;ﬁg/:ox;sw\
3 5/8"x18GA METAL STUD (TYP.)(TOP & BOT)
14GA SUPPORT CLIP & : >
WI(2)-#10-16 TEKS ‘/ 2 <<
SCREWS \ > CONT. 10"x18GA. X 0] ;
METAL STUD X
N ‘ 2 <%y
s <=8
o Z - =3
# SCREWS @ 12°0.C. =] £ ®
#1016 TEKS SCREWS g Hu=zg«
9 Jxroo
BUILT UP BOX @ 1670.C.(TYP.) ] 9<(n_<—
BEAM, SEE PLAN T
B-1 B2 P o
= = @ L ETn
T O x
TYPICAL BOX BEAM BEARING DETAIL TYPICAL BUILT-UP BOX BEAM DETAILS § b 9z <
)
0 g =
m H o<
CONT. METAL TRACK 06 g
(E) ROOF CONSTRUCTION 3 5/8"x18GA METAL (E) ROOF CONSTRUCTIQ, | o -y
\ STUD EACH SIDE g g w L
\ | mm<§§"
4 5 §
T T T T T T i AN <E aSESZ
\ v TEEZ88
/7%, INFILL STUDS m E K H Zom
/\_ ASREQUIRED z&=58 8
Vi % SEE ARCH Q a s B3 2
4 N o
o S @8
c 5\ / y LI
¥ Y i
AN /// qa / 3 5/8" METAL STUD m
18GA TRACK W/ (4) #12-24 SCREWS: \_ 3 5/8" METAL STUD O i W RO i W DISTREBUTION DATE
TO EACH JOIST BOTTOM CHORD - .
DEFLECTION CLIP AT X8 SAMETAL STUD A OWNER REVIEW | 09/13/18
EACH SIDE OF COLUMN & STUD (2)#10.16 TEK SCREWS //,/; N y. PERMIT SET 09/25118
< ///// k . ///x .
BUILT UP BOX COLUMN, BUILT UP BOX COLUMN 4 /// N V4
i - V]
/_ /_ J WA
L 7
/ J (2) #12-24 TEK SCREWS
LA | (B)JoisT (TYP @ JOIST CHORD (2) #12-24 TEK 6 METAL STUD
ANGLE TOP & BOT.) SCREWS, TYP. WI(2) #10-16 TEK SCREWS
PARALLEL TO ROOF ## ON PERPENDICULAR TO ROOF DECK FLUTE DIRECTION
M #OP OF COLUMN BRACE DETAILS DETAIL N DETAIL ~
), /) #SEE ARCH. FOR ALL NEW PARTITION WALL LOCATIONS EYoET N FYTET u

09/24/2018 8:08:54 AM

ARCH_PROECTE

180431

[B2B PROJECTE

DRAWING TITLE.

\Tbs-projects0412018\2018-1091\Cad_Revit - TBA\Structural\2018-1091 S3.0.dwg

33

Thorson-Baker + Associates
CONSULTING ENGINEERS

3030 Wes! Streelsboro Road
Richfield, Ohio 44286

(33D) 659-6688 Ph
(330) 659-6675 Fax

SECTIONS
&
DETAILS

S3.0




	Created with MetaPrint
	001_S30.pdf

